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Energy efficiency is a no brainer i
so why Is it not happening?
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Introduction to Verco

A

We are a specialist energy
management and sustainability
company

Work with companies and
governments on complex energy
challenges.

Have been around for 28 years in
the low carbon space

We have a blend of technical,
policy, financial and software
expertise

Provide evidence base and
analysis for better policy design

A

BOARD / CORPORATE LEVEL

Develop corporate
sustainability strategy

BUSINESS UNIT / OPERATIONAL LEVEL

Ensure company is compliant with all legislation
and supporting group energy and sustainability goals

SITE / PRODUCTION LEVEL

Provision of data with identification and
delivery of carbon, energy and resource savings
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Global emission trajectories
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Why is energy efficiency important?

A Energy efficiency is seen as the major play in helping us achieve these targets

Global energy-related GHG emissions reduction by policy
measure in the Bridge Scenario relative to the INDC Scenario
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Source: IEA world energy outlook 2015
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Important for the UK

Other
(Services & Industry
A Supports all three elements of the agriculture) 17%
~ . S 149%
fenergy tril emmao i
A Supports the current demand side
management agenda
Domestic
A Expected to save £18bn on energy o Transport

39%
2015 Temperature corrected final energy consumption by sector
Source: DBEIS Energy Consumption in UK Nov 2016

and transport bills in 2020
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Source: DECC Analysis of DECC Energy & Emissions Projections and Price Assumptions.
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How are we doing?

A The EU has a 20% energy efficiency improvement target by 2020, this is
currently being extended to 30% by 2030
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Progress indicator 2015 - Comparison 2012
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A Traditionally the UK has been at the
forefront of efficiency progress, this
has seemingly slowed in recent
years

A The UK ranked very low in a recent
survey of industry experts assessing
progress made towards this target.
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The potential
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What level of opportunity exists?

)

A We completed circa 90

energy audits for ESOS

© 4]
> across a range of
g 3- industries
g
L A In total we found an
= average of 26% saving
1] .
potential
| A We found an average of
1% 2% 3% 4% 5% 6% 7% 8% 9% 10% 11% 12% 13% 14% 15% 16% 17% 18% 19% 20% 1140/0 eﬁ:ICIenCy
% Energy saving (of total site/organisation) ——) improvement Wlthln a 2
year payback
A The recently published Building Energy Efficiency Survey
found a total 39% efficiency reduction opportunity across
the non domestic building stock.
A 14% was found to be within a 3 year payback.
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So

what 0s

stopping

us ?

Technical Economic

A Availability of data or
ability to effectively
analyse data

A Unclear information
provided by suppliers

A Opportunities lay
undiscovered

A Diverse nature of
opportunities

A Lack of skills

These

A
A

Misaligned Incentives

Unfamiliar investment
type 1 low confidence
in savings

Competition for finance

Interventions not
sufficiently profitable

Long investment cycles

Often difficult to
aggregate measures to
a scale interesting to

iInvestors

are jJust

t

Cultural

A
A

Inertia

Poor energy
management
structures

Complex decision
chain

Not seen as core
business

Lack of awareness

Poor processes making
small investments
difficult to sign off
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Diverse nature of opportunities
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The reality of our building stock?
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Lack of skills
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Doing the wrong thing for the right reason

Hot waterto 80°C

process N

Hot water tank

Fermentation

Storage Vessels

_ Vessels
BO®C
Whirlpool
Wort Cooler
97°C 12°¢C 7°C 2°C
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Resulted in 75% more hot water at a lower temperature being generated

which ultimately went to drain
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Misaligned incentives
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Barriers: Misaligned incentives

Stairwell

O Tenant 1
O Tenant 1
O Tenant 1
© whant2|@ Tenants
O Tenant 3
O Tenant 3
O Atrium

Typical e _
stakeholders Primarily incentive

Landlord

Property manager

FM teams
(Landlord and
tenants)

Sub contractors

Tenants

L.

© Planti LL SM

Maximise asset value 1
(reducing service charge)

Landlord agent ensuring
tenants are satisfied

Ensure systems work not
normally incentivised to
explore lowest TCO options

Meet the requirements of the
FM minimise complaints

Comfortable and productive
working environment
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Australia has managed to align these incentives

NLA-Weighted Average NABERS Rating & Total Rated Area
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Competition for finance
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When capital is l[imited companies
an opportunity cost

may see investing in energy efficiency as

Gas turbine GHP?

New production capacity?
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Poor energy management structures
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Barriers: Inadequate accountability example

o

Example large brewery

o

Can be split into services and process related
consumption

- A Services are typically generation activities, with
Effluent treatment the process being the demand side.

A In this situation the engineering manager is
responsible for the energy performance and has
a target

Filtration/

Incoming Cellars BBT

water

Pack Hall

Refriger

Boiler Brewhouse ation

house

- Process areas

- Services
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